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Name: ____________________________________________ Per: ___ Date: _______

Unit 02: Energy
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Directions: Go to www.khanacademy.com, and play each video. Complete this worksheet as the videos play. Pause and replay as much as you need.  REMEMBER: The goal is to LEARN the content, NOT to complete the worksheet. 

                    (     Chemistry ( “Specific Heat, Heat of Fusion and Vaporization”
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1. Using the video, and starting at -10, complete the graph…










Label the following sections of the graph;

Ice,
100oC water, 100oC vapor,

Hf 333,
Hv 2257
Specific Heat

Heat of Fusion (Hf) = __________
Heat of Vaporization (Hv) = _______

S_____________ 2.05 J/g*K

L_____________ 4.178 J/g*K

G_____________ 1.89 J/g*K

If you had 1.0g of liquid 100oC water and you wanted to convert it to 100g of 100oC vapor, you would need _________ J

How much energy would it take to heat 200g of water from – 10oC to 110oC?

-10o ice ( 0o ice…

____________________________ = ___________ J

Use the equation Q = mcT

0o ice ( 0o water…

____________________________ = ___________ J

Use the Heat of Fusion
0o water ( 100o water…
____________________________ = ___________ J

Use the equation Q = mcT

100o water ( 100o vapor…____________________________ = ___________ J

Use the Heat of Fusion
100o vapor ( 110o vapor…____________________________ = ___________ J

Use the equation Q = mcT









Total = _______________J

                    (     Chemistry ( “Chilling Water Problem”



“This one will stretch your neurons a little bit.”
Note… You will be using the numbers from side 1 of this worksheet.
This is a more complex problem than you will be evaluated for in Chem 1, but the idea explains how all energy has to be accounted for… And it shows you mathematically, exactly how it is counted.




( 500g of water…

Ice from Sal’s freezer at 10oC


How much ice would it take to cool 500g of liquid water from 60oC to 0oC?




Draw the direction of heat in the ice-water combination
Heatout = heat that leaves the water when it drops to 0oC.


Heat out = ____________________________ = 


X grams of ice…


-10oC ice ( 0oC ice

____________________________ = ___________ J

Use the equation Q = mcT

0o ice ( 0o water…

____________________________ = ___________ J

Use the Heat of Fusion

Heat abs = heat the ice will absorb = ___________ + ____________ =

= ________________________x =




So you will need _______g of ice… 

Which will you have more of (check one)?
Ice?

Water?
This is because ice absorbs heat two ways;

· By raising it’s T________________

· By M___________________





























  __________J








  __________J





Report any mistakes on this worksheet to… 	Robert Hernandez, 


 		(or suggestions) 		Seabreeze High School


						rahernan@volusia.k12.fl.us
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